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. . PAPER 2
Essay
[60 marks]

Answer four questions only.
All guestions carry equal marks.

b ‘material.
' Credit will be given for clarity of expression and orderly presentation of materia

The accuracy of a body measurement can be affected by using a defectiye tape measure.

State three of such defects. 2

Draw the bodice block and indicate the position of the pattern symbol for
adjusting its length.

Suggest three ways an outgrown garment can be altered to fit the wearer.

State three features a garment for a short plum figure should have.

Differentiate between fashion and fad.

(i) List three household articles made of wool. .
(ii) Enmna:tethmouterpnnemsﬂntmbemadeﬁomlim

Smelvewaysofdeoomingdieyokeoflchildsdtm. . i

Expllinthemfabrkﬁnhhuundincbd\ingmmtﬁhsl
State four different methods used in constructing fabrics.
State four physical properties of wool.
Define good grooming.
Emm&mﬁcm:hnmpodming,

Explain the term wardmbeplamlngumedinclodaingmdm-h
Explainmbmﬁtsofwu&obeplmhg.
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@) fabric;

(i) selvedge; % LA

@iii)  warp yams;

(v)  weltyams; [+ ot RS,

(v)  grain; SRR AN W ORI &)

(vi)  straight grain.

State two ways of caring for silk fabrics. A
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(ii))  washability;
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Answer all the questions.

. t option for each question
Each question js Jollowed by four options lettered A to D. Find ot the m';af :hnM/ . Give only one
" pencll on your answer space which bears the same letter as the option you

answer 1o each question. An example is given below.

An example of a decorative stitch is

A tacking.

B. a herringbone.
C. machining,

D. an appliqué.

'would be shaded
mcormtm:mrualnrmgbmcwhlchlslmndamdﬂnnfonmnpaceBW

Think carefully before you shade the answer spaces; erase completely any answers you wish to change.

Dadlmqhmkmrhqudmm AL .G

Nawmrlnjbllovlngqmum. : ! =

Anhmbamdmmmuumofmmﬁnh

A patriotism, s

B. number of employees. i 4

C. available capital, '_

D. hardwork,

Ammmhuﬂnmummwummmh

& . : 3

B. linen. : 2

0.8

D. taffeta.

Amﬁhemedi.nmnkhgtwimmmbuh

A rayon. e2 i ey

B. polyester. .
ny'm. 1'

D hemp. '):.‘

Qmemkunﬁnishhamdmwﬁhuwm A0

A. fray easily. 5

B stretch easily. ‘Ir

o ﬂlill“ib’. 1;.

D crumple easily. ¢

A rayon.

B nylon.

C polyester.

D linen.
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One of the properties of wool is that it is
A. less absorbent.

B. highly absorbent.

C. easy to launder

D. shrink proof.

Factors to consider when mounting exhibition include
I duration,

I money available,

11 publicity,

v articles to exhibit.

A. 1 and 1l only.

B. 11 and 111 only

C. 11, 111 and 1V only
D. 1, 1L 11l apd 1V

A gusset is inserted at the underarm of kimono sleeves to allow for

A. perfect fit.
B. free movement.
84 matching of seams.

D. decoration of garment.

In order to increase productivity in a clothing industry, workers must
A. be honest.

B. appear presentable.
e accept criticism. .
D. work at their own convenience.

The most suitable sleeve for a baby's dress is
A magyar.

raglan

puff.

B.

C.

D. dolman.
hmﬂwmumﬁomMmclimmatedinskinfacingto
A. reduce bulk.

B. make it fit. .

c beautify the waistline.

D.  make sewing easy.

i orked on
Bound openings are usually w
children's dresses.

: B. Jady's sports wear.

C. men's shirts.
D. trousers for boys.

Agdforﬁwhairmdskiniunexampleof

A. accessory.
B pomde

C cosmetiC.

D vaseline.

Linings for transparent garments should always be
A. bright coloured.

B. ‘dark

Cc. ~ cool coloured
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. 34. When darning, work first in the direction of
R A. diagonal threads.
B. weft yams.
C.  straight threads..
D. warp yarns.

25 Fabrics used for undergarments must be
I - A. inexpensive and easy to launder.
B. expensive and easy to launder.
C..  strong and easy to launder.
D. colourful and easy to launder.

126.  When repairing garments, prints patch is applied to
P A. seams in the garment.

B. right side of garment.

U facing in the garment.

D. wrong side of garment.

A well-groomed person sits with the
A. legs crossed
B. knees bent.

C- thighs spread out.
D. thighs closed.

Trunks and suitcases are used for storing
A. fast coloured clothes.
B. frequently used clothes.

C very precious clothes.
D. scarcely used clothes.

Anexampleofagoodgmominspﬂcﬁ“i’

A chewing gum in public.
~ B. relaxing the body.

L walking briskly.

D. toning of skin.

Double solid lines on a commercial pattern is a symbol for
; fold line.
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The primary reason why people wear clothing is for

A. protection, .
B.  adomment. ' W5
C. status identification.

D. mood expression.

lnthestudyofClod\ingdeenila.mimpkuisudwm :
A. fiber strength. |
B. yam structure.
o yam count.

D. fiber type.

Clothing accessories used to enhance one's appearance include
A. carrings and shoes.

B. wristwatch and belts.

C. necklace and eyelashes.

D. shoes and belts.

FuamwmmmmuﬂchthmwuinﬁmwhhMmdn

A. sleeve.

B.  collar £ 2
C. pocket. -
D. facing.

A wise clothing consumer is someone who

L buys direct from producers.

IL does window shopping.

IIl.  purchases clothing items every month.
IV.  hasa good bargaining power.

A. 1 and Il only.

B. 1, 11 and 11 only.
5 11,111 and IV only.
D. I, 11 and IV only.

The first process in the assembling of a fitted garment is

A. constructing openings.

B. arranging fullness. .
C. making seams.

D. finishing neckline.

When using the sewing machine, it is appropriate to

A. move the article towards worker.
B. lower presser foot before needle.
C. move balance wheel forward and backward.
D. move the article away from the worker.
Under garments worn by women include
girdle and singlet.
brassiere and singlet.

waist slips and panties.
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crotch depth measurement.
crotch length measurement.
crotch width measurement.
under crotch measurement.

fashion coordinator.
fashion illustrator.

personal shopper.
production manager.

and F‘ﬂ stitches are used when
weaving. -

crocheting.

smocking.

knitting.

zig-zag stitch. :
over-sewing stitch.
overcasting stitch.
loop stitch.

ecial treatment given to cotton fabric to make it shrink proof is

YCl

sstic of blended fabric is that, it

s warm to wear.
ilwytohmda

frays easily. (
~ drapes well.
vﬁrlbegmnﬂ’mkingaselfgarmwttome
 drafted pattern.
~ block pattern.

,f‘umemllpman

e
e wuement taken in-between the thigh from front waistline to back waistling 'me”

) ‘I“L.H 'y
MO4

~ An individual who selects fashion goods to ensure that customers needs are metis referred t0 as
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50.

A !empoglglﬁldl useful for holding heavier fabrics firmly together is

A. _ running stitch.
B.  eventacking.
i long and short tacking.
s ~ The bargaining power of consumer can best be demonstrated in a
A.  boutique.
B. supermarket. ;
C: market.
D. shopping mall.
The first step involved in the removal of fruit juice from an article is by
A rinsing in cold water.
B.  rinsing in warm water.
C. sponging with cold water.
D. sponging with warm water.
A fabric which is thermoplastic and can be heat-set into pleats is
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13 A
tlothing and textiles, construction of a belt carrier is best made using
~ Cross-cut strip.
straight strip.
shaped stip
left-over strip.

roat plate on a sewing machine is the part that
prevents the feed dog from collecting fiuff.
is removed when inserting the bobbin case.
is removed when changing the bobbin thread.
covers the feed dog and the bobbin.
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